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A= FHsSd= AR DA =< a3
g NSFH 835t
Oel: MEAIE 245 Y AMBO X (S5 &)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
O=Uel d&8AZE dIXI0r2 X 12,000
HEANE E43 =& 455,700 576,000 A 120,300
403 MtXSHHE X0l E 455,700 576,000 A 120,300
01 XM A=2EE 455,700 576,000 A 120,300
OSHSANE 24(Us) 455,700
=2 MSAE =HEgs &0 NH 10,000 16,200 A 6,200
307 21201 A 10,000 16,200 A 6,200
02 LAFAAFEX 10,000 16,200 A 6,200
O&= dSAE &&s Fot N2 10,000
S5 RFAE &S HA 100,000 100,000 0
307 2201 A 100,000 100,000 0
02 It M AHE L 100,000 100,000 0
OB A &g Nz NA(US) 100,000
HEANE ANESHUHSAISE (HEAIY) 2,867,631 2,853,000 14,631
403 X SHHS =0l & 2,867,631 2,853,000 14,631
01 HAXSHMA=2EE 2,867,631 2,853,000 14,631
ONMSANE AESHUSAME X (HEAY) 2,867,631
S+ HEANE E&F NA 60,000 60,000 0
307 21201 A 60,000 60,000 0
02 HAFAANGFEE 60,000 60,000 0
O+ HSANE HE XA 60,000
HSAE SIMHSH Y X 82,288 137,146 A 54,858
308 MtXIEHMSOIH 82,288 137,146 A 54,858
01 AXHHILEES 82,288 137,146 A 54,858
OFSAZE StHSH 2t X 82,288
HdEANE L A4EI HSER0 2 K& 150,480 111,744 38,736
308 AHAIEHHSOIA 150,480 111,744 38,736
01 HXNHHNBHEELS 150,480 111,744 38,736
OFSAZE & 4FI HEs=<0 24 X 150,480
EROINEE MOZXE SHAY X2 4,800 4,800 0
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O243UELI3 0IXNEA 6,917,583
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J| 2,526,480
< 421,080
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5 L4302 FAdBAZ XA 90,360 90, 360 0
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